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QUESTION 1

What are three purposes of partitioning the backhaul network into independent IGP domains? (Choose three.)
A. to not enhance stability

B. to reduce the size of the routing and forwarding tables on individual routers

C. to ensure that reachability is not possible between domains

D. to not ensure stability

E. faster convergence

F. to enhance stability

Correct Answer: BEF

QUESTION 2

Which two options configures an ASR920 router as a hybrid clock? (Choose two.)
A. ptp clock boundary domain O

B. ptp clock boundary domain 0 hybrid

C. ptp clock ordinary domain 0 hybrid

D. ptp clock ordinary domain O

E. ptp clock

Correct Answer: BC

QUESTION 3

When configuring SAToP what must the framing be configured as?
A. Framed

B. Native

C. Structured

D. Unframed

Correct Answer: B

QUESTION 4
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SyncE clocking is provided at what OSI layer?
A. Layer 3

B. Layer 2 and 3

C. Layer1

D. Layer 2

Correct Answer: C

QUESTION 5

In how many seconds, after a failure of the primary or active paths when BGP Fast Reroutes enables alternate paths?
A. 5 seconds

B. 10 seconds

C.
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